
ASSEMBLY INSTRUCTIONS FOR 6B701 (INTERNATIONAL CORNER FLAGS)

1. Unpack all parts, and report any damages to the delivery trucking company immediately.

2. Assemble flags as shown in figures 1 and 2.

3. Dig a hole 20 1/4“ deep and minimum of 6” diameter in desired location. Fill bottom of hole with 6” of  3/4” 
stone. See figure 3

4. Put assembled flag and ground sleeve into hole and fill hole with concrete flush with the top of the ground 
sleeve. Be sure to level ground sleeve with flag assembled before concrete cures. See figure below.

5. When removing flag, be sure to place ground sleeve cap into ground sleeve.

PARTS LIST

A. Flags with Pole   (4)
B. Springs     (4)
C. Ground Sleeves   (4)
D. Ground Sleeve Caps (4)
E. 1/4” X 2” Hex Bolt  (4)
F. 1/4” Lock Nut   (4)

Field Surface

20 1/4“

6“

6“ Minimum

3/4“ Stone

Concrete

Ground Sleeve

NZ209 Rev. 07/17/17

Fig. 3Fig. 2

Flag W/Pole (A)

Spring (B)

Fig. 1

Flag w/Pole
(A)

1/4” X 2” Hex Bolt
(E)

1/4” Lock Nut (F)

Put Bolt
Through

Spring Loop

Spring (B)

140 Pacific Drive   Quakertown, PA 18951 / (215) 536-2200 / Fax (215) 536-4309
Visit our website @ www.kwikgoal.com

2003, Rev 2017 Kwik Goal Ltd.

Go to kwikgoal.com for additional product information.


	Page 1

